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[[:%iva BHEES g 79h | 4Y |GROSS| HDCP | NET
B B RH EBER 43 44] 87| 19.8] 67.2
2B BEE B 42| 44] 86| 16.7 69.3
Ko E: I 44 45/ 89 17.5 T1.5
M [ KE ®i= 49] 42| 91 18.5 72.5
5 EIR FEKER 43| 48] 91| 18.5 72.5
66 =K S 44] 45 89| 15.5 73.5
T [FF KE 50/ 44| 94| 19.5 74.5
8 |HO KA 50/ 50| 100 24.7 75.3
o |k HR®E 48] 46| 94 18.5 75.5
106 [R5 E 44 43] 87| 11.5 75.5
M [&H BE 47 50| 97 20.7 76.3
1261 [#8&X —BB 50 52| 102 25.5 76.5
136 [tk —# 45 47| 92| 15.5 76.5
[ E IS 46] 50 96 19.5 76.5
156 [f8@ ik 51 48] 99| 21.7 71.3
1662 [ENl ~E 50 47| 97/ 19.7 71.3
176 &F ZHA| 48] 48] 96| 18.5 71.5
181 |BHF Ex 44 49| 93] 15.5 71.5
196 5" EF 51 50/ 101 22.6| 78.4
206 [FE & 53] 46| 99 20.5 78.5
216 [ B &S 51 48] 99/ 20.5 78.5
261 &R F 48] 50| 98 19.5 78.5
2361 |FEF EX 49| 48] 97/ 17.5 79.5
2461 [#BAX ETH 48] 47| 95/ 14.7 80.3
2561 [ BRI 53] 49| 102 21.5 80.5
2661 [/NE  RiE 49| 55/ 104 23.5 80.5
27161 |[R@A  Fh 49| 55/ 104 23.5 80.5
2861 |42 1B 49] 45 94 11.8] 82.2
2961 Ak FLEB 45| 52| 97| 14.5 82.5
306 [MAR RH 50/ 48] 98] 14.7 83.3
G |FA  EH 55| 45| 100 16.5 83.5
261 | KIFE & 51 49| 100 16.5 83.5
3L B R2 54 50| 104 19.7 84.3
ML EE  EE 61| 51| 112 27.5 84.5
354 Hz 51 56| 107 21.7 85.3
6LL |EE EEEY 54/ 51| 105/ 18.5) 86.5
6L | &FH XA 53] 53] 106] 18.7 87.3
8L | Kk =E 48] 58] 106 17.5 88.5
96 [HA E—EF 57 58] 115/ 25.5) 89.5
406 [BER [kt 54 57| 111] 21.5] 89.5
N6 [ FERI 49] 56| 105/ 15.5 89.5
026 [RE Fi@ 53] 56| 109 17.7 91.3
4361 [FBEK  EER 59| 52| 111] 18.5 92.5
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